R B LER

el

3y

IH

uiH}

BRIEIZBE 3 &%

\

BAEREMMDARIE)

BARABERDIER

SUEFHh D FRLE

]

flm & &

181B1018

Yool

=

%

KF-1

Zil

Hh

—REAHJIIGATERFKF

i OE

#w B

RELERESEIRBTFELRE 2

TR A A .

._;,: . ot »
| : x . B T ey
| n g B 1 - G ] ] "%“ :f
[T Epm (X o R s R (G \
o AT e e e ) e
\ .Eﬂ B Fikmw "RN“'-‘. st 'i g r -K'
AR 3 SR A = 3 3'-'_" ;
i T a8 Tg#"- P AR R | ER S W, e R A (e g
i 23 1 WEk :
W PJ;::J., *u N0 25 5km
-2 ] f! r.;!é - '§l‘ﬂ1 S laniilis o tgd . - 1 o

il

=m

wmx

. 24

FER
. I wR » Y
> £} f
A > 2 Jf
¥ i =
/
ENE T ]
. \
ll. o
Vo
p s
/7
r
4 s
e R LAY A+H 2
2
= 5

| 5m

0 250 500m

|

iv2

& [X(S=1:200,000)

¥EiR X (S=1:25,000)




BH3_—1 BEOEENOHLLM ELLVEEOEENOHELDHFR
2 @& % 0 L B EWES

%III

REMMOFEERRSE

R#l
- 3 |
s T

BEOEThOLS LBORE

— HiEME

[ tssoummramsmisinmE
[] 5% 0BBOHH 100N/ M EBASRE

[ sLa®osthosstboEmg

|

REEE | IR 29T
— BT e I 7 A
>z
25 50
m
1:1,000




RIEF D B IR X 18 ER

BX3—2 BEYICHRATHLBESNIERICET HEE/D i i REEE | Vk9rg
SEMONE | @MES | 18151018 &% | A1 | FRTEHR | A A
- AR D TIRIZlEET 51 i SMERR
B4 TREDBIODBHILNDKRES TEEFDEEFSENDKRES TRZFENBBOESLNDOKRES TREDHERILNDKRES
] 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzh st 1.00 | 000 ~ 518 64.58 | Fhs | 000 ~ 518 1.93 9.74 zhust 1.00 | 5.00 ~ 6.00 64.58 | Fhst | 500 ~ 6.00| 1.93 9.74
2 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzhn st 1.00 | 000 ~ 478 59.62 | Fhst | 000 ~ 478 | 204 10.33 zhust 1.00 | 5.00 ~ 6.00 59.62 | #hst | .00 ~ 6.00| 2.04 10.33
3 100kN/m#E#B 25 — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
Zzhn st 1.00 | 000 ~ 478 59.58 | #hst 000 ~ 478|205 10.34 zhust 1.00 | 5.00 ~ 6.00 59.58 | #hst | 6.00 ~ 6.00| 205 10.34
4 100kN/m#E#B 2% — -~ = —|amE8Bz3| — ~ — — — | 100kN/mi%#B %% — — ~ — —|amzE#EZ% — ~ — — —
zhst 1.00 1000 ~ 178 2542 | Fhs | 0oo ~ 1.78| 279 14.11 Zh st 1.00 | 5.00 ~ 6.30 2542 | 0S| 600 ~ 630|279 14.11
5 100kN/ Mm% %% — - ~ — —|3mzEZB| 000 ~ 025|551 17.75 | 100kN/mM%EBZ 5 — -~ — — |3mEBZB| 6.00 ~ 691 351 17.75
Zzh st 1.00 | 000 ~ 114 10.07 | #FhUS | 025 ~ 1.14| 3.00 15.16 zhust 1.00] 5.00 ~ 691 10.07 | Fhst | 500 ~ 5.00| 3.00 1516
5 100kN/m#E#E 25 — -~ = —|amz8Bz3| — ~ — — — | 100kN/miE#B %% — — ~ — —|amzE#EZ3 — ~ — — —
zhst 1.00 | 000 ~ 324 41.35 | #FnUUS | 000 ~ 324 240 12.11 zhust 1.00 | 5.00 ~ 6.00 41.35 | Fhst | 500 ~ 6.00| 2.40 12.11
100kN/m#E#E 25 ~ 3mEEZ5 ~ 100kN/m%E#B %% ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#E 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/ Mm% 2% ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/ Mm% 2% ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 2% ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ Zzh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m#E#B 25 ~ 3mEEZ5 ~ 100kN/mM%E#B % % ~ 3mEHEZS ~
Zh st ~ Zh st ~ zh s ~ zh s ~
100kN/m#E#B 2% ~ 3mEEZ5 ~ 100kN/m%E#B % % ~ 3mEHZS ~
Zh st ~ Zh st ~ Zh s ~ Zh s ~




